POSTOTCI – RJEŠENJA ZADATAKA

1. zadatak:
a) ,
b) ,
c) ,
d) ,
e) ,
f) .

2. zadatak:
a) ,
b) ,
c) ,
d) ,
e) ,
f) .

3. zadatak:
a) 600,
b) 260,
c) 3000,
d) 80,
e) 400,
f) 0.48.

4. zadatak:
a) 138 kn,
b) 108 kn,
c) [bookmark: __DdeLink__222_3128134918]132.30 kn,
d) 92.93 kn,
e) 103.68 kn,
f) 90 kn.

5. zadatak: 90 %

6. zadatak: 47754 stanovnika

7. zadatak: 17.936 %

8. zadatak: Ne može. Smanjenje će biti 18.55 %.

9. zadatak: 0.3 kg

10. zadatak: 7.14 %

11. zadatak: 0.011 %

12. zadatak: 11.4 kg

13. zadatak: 40 000 kn

14. zadatak: 5054.35 kn

15. zadatak: 36 učenika

16. zadatak: 330 djevojčica i 270 dječaka

17. zadatak: A - 264 kg, B - 220 kg i C - 275 kg

18. zadatak: 40 %
